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QUESTION 1

You need to identify the cause of the page split issues. Which SQL Server feature should you use? 

A. DBCC REINDEX 

B. SQL Server Profiler 

C. Extended Events 

D. DBCC TRACEOFF 

Correct Answer: C 

 

 

QUESTION 2

You are creating a stored procedure named usp1. Usp1 will create a table that will be used during the execution of
usp1. Only usp1 will be allowed to access the table. 

You need to write the code required to create the table for usp1. The solution must minimize the need to recompile the
stored procedure. 

Which code segment should you use to create the table? 

A. CREATE TABLE oneTable 

B. CREATE TABLE ##oneTable 

C. CREATE TABLE #oneTable 

D. DECLARE oneTable TABLE 

Correct Answer: B 

 

QUESTION 3

You plan to deploy two stored procedures named SP1 and SP2 that read data from the database. Your company
identifies the following requirements for each stored procedure: 

SP1 must allow dirty reads. 

SP2 must place range locks on the data to ensure read consistency. 

You need to identify which isolation level you must set for each stored procedure. The solution must minimize the
number of locks. 

Which isolation level should you identify? 

To answer, drag the appropriate isolation level to the correct stored procedure in the answer area. (Answer choices may
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be used once, more than once, or not at all.) 

Select and Place: 

Correct Answer: 

Note: 

*

 READ UNCOMMITTED 

Specifies that statements can read rows that have been modified by other transactions but not yet committed. 

Transactions running at the READ UNCOMMITTED level do not issue shared locks to prevent other transactions from
modifying data read by the current transaction. READ UNCOMMITTED transactions are also not blocked by exclusive 

locks that would prevent the current transaction from reading rows that have been modified but not committed by other
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transactions. When this option is set, it is possible to read uncommitted modifications, which are called dirty reads.
Values 

in the data can be changed and rows can appear or disappear in the data set before the end of the transaction. This
option has the same effect as setting NOLOCK on all tables in all SELECT statements in a transaction. This is the least 

restrictive of the isolation levels. 

*

 SERIALIZABLE 

Specifies the following: 

Statements cannot read data that has been modified but not yet committed by other transactions. No other transactions
can modify data that has been read by the current transaction until the current transaction completes. 

Other transactions cannot insert new rows with key values that would fall in the range of keys read by any statements in
the current transaction until the current transaction completes. Range locks are placed in the range of key values that 

match the search conditions of each statement executed in a transaction. This blocks other transactions from updating
or inserting any rows that would qualify for any of the statements executed by the current transaction. This means that if 

any of the statements in a transaction are executed a second time, they will read the same set of rows. The range locks
are held until the transaction completes. 

This is the most restrictive of the isolation levels because it locks entire ranges of keys and holds the locks until the
transaction completes. Because concurrency is 

lower, use this option only when necessary. 

Reference: SET TRANSACTION ISOLATION LEVEL (Transact-SQL) 

 

QUESTION 4

You have a SQL Server 2012 database named Database1. Database1 contains a table named OrderDetails. 

For a given sales order, you need to retrieve the OrderID, Quantity, and LineTotal columns for all of the items in the
OrderDetails table. The solution must ensure that the results can be joined to other tables. Which code segment should
you execute? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: A 

 

QUESTION 5

You have a database for a mission-critical web application. The database is stored on a SQL Server 2012 instance and
is the only database on the instance. 
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The application generates all T-SQL statements dynamically and does not use stored procedures. You need to
maximize the amount of memory available for data caching. 

Which advanced server option should you modify? 

A. Optimize for Ad hoc Workloads 

B. Enable Contained Databases 

C. Allow Triggers to Fire Others 

D. Scan for Startup Procs 

Correct Answer: A 
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